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%%ﬁjﬁm WE KE, A, PR R# 1. 6km HET (60, 200) 97  98.5 995 101 102 103
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11 — 3. A #h 5 #0587 &5 PE b, 50 F B A ff B &

(BAL kg)
Y - PEHE w3 | R % | s oo [huokiE selmrkEm ] % o | o g w
R 28 4R 24,789,446 3,809,550 2,394,432 437,466 1,505,572 2,602,996
29 30,762,410 4,213,485 2,736,257
30 21,814,663 3,332,665 2,699,745
oot & 21,149,535 3,060,644 393,924 54,702 37,288 2,583,610
2 4F 22,364,215 2,909,584 1,641,310 225,337 152,108 2,625,865
it g & 3,411,718 6,682 58,941 2,268 481
H R 198,943 298,657 9,121 300 -
= F R 67,080 25,883 2,172 -
B ORI 415 - 30,325 1,223 -
K oH R 745 13,253 1,565 - -
o 6,135 76,643 655 - -
& 3,275 37,344 872 - -
R YR 430,787 20,201 281 - 2,100
i A U 400 - - - _
e R 70,373 1,522 16 - -
B E R 535 - - - 3,000
T 3 R 59,819 38,535 33,018 - 957
RO AR 1 - 917 1,615 30
s IR - - 1,567 - -
B R 5,005 529 3,011 - -
" o - 178 8,079 - 1,425
A1 B 48,405 43,096 31,754 634 1,088
& R 13,786 70 13,802 - 356
AL 2,765 22,983 40 - -
£ Iy R 1,570,589 106,261 92 - -
g7 B R 96,042 - 2,667 - -
[ 32,400 7,454 6,904 10,531 16,729
5 IR 1,056,457 25,183 6,362 - 834
=@ R 24,515 820 34,749 988 240
A B 5,599 - 651 - -
B 5,466 80 8,922 - -
K bR R 17,189 3,759 9,861 22,782 19,385
= -3 1,522,949 24,119 49,135 59,143 86,660
ZRR 5,720 56,857 - - 205
oo R 86,213 389,037 36,815 196 -
J=N: 50,098 66,692 27,996 - -
R R - 530 14,460 - -
fi 1L U 65,791 20,613 3,674 - -
= 3,942 4,897 4,124 - 2,809
=y} 2,343 10 29,200 3,009 3,771
T R 577,519 80,606 19,822 - 113
ES I 73,257 29,124 36,536 10 315
=g I 151,412 158,495 83,899 - -
=R 217,577 44,367 38,348 - 202
& [ B 95,836 20,134 8,349 - 3,210
e B IR 210,143 24,646 2,666 -
E IF 15 449,204 87,094 80,330 190
RE AR IR 262,439 107,370 9,190 -
Ko R 137,683 2,245 10,526 257 -
g IR 105,551 20,519 4,726 - -
R R 352,988 43,826 59,691 - -
hofE R 24 2,969 1,258 - -
i 151,193 3,598 1,423 11,520 1,060
i 5,215 240 17,401 1,922 50
=) - 80 3,939 14,886 -
74U - 169,930 - 1,880 -
T AU 50 45,513 2,083 3,692 10
Za— =S K 158,720 21,864 107 115 -
Ax o 87,949 96,243 477 2,993 -
0 10,461,955 658,833 828,791 85,183 7,072
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11 — 4. AN 5 858 i & pE th, & FE B A 7 & 51

(Hpr FH)
Y- pEM oo [ R % | oo [Muokied selmrokEm x| % o [k W
SRR 28 4R 4,743,293 1,154,238 2,167,396 468,906 1,243,518 1,683,980
29 5,409,535 1,111,959 1,997,502 459,782 650,428 1,708,200
30 4,035,690 1,083,573 1,882,895 212,061 98,808 1,423,781
oot A 3,253,631 886,779 1,848,778 203,015 141,871 1,228,624
2 4F 22,364,215 2,909,584 1,641,310 225,337 152,108 2,625,865
it ¥E & 3,411,718 6,682 58,941 2,268 481
H &R 198,943 298,657 9,121 300 -
HTF R 67,080 25,883 2,172 -
Z 415 - 30,325 1,223
o R 745 13,253 1,565 - -
i IR 6,135 76,643 655 - -
& B R 3,275 37,344 872 - -
KRR 430,787 20,201 281 - 2,100
A IR 400 - - - -
B IR 70,373 1,522 16 - -
% E 535 - - - 3,000
T B R 59,819 38,535 33,018 - 957
L AR 1 - 917 1,615 30
1 = )1 IR - - 1,567 - -
s R 5,005 529 3,011 - -
RS - 178 8,079 - 1,425
AR 48,405 43,096 31,754 634 1,088
& R 13,786 70 13,802 - 356
(AL IR 2,765 22,983 40 - -
£ &R 1,570,589 106,261 92 - -
Iz B IR 96,042 - 2,667 - -
& 1R 32,400 7,454 6,904 10,531 16,729
=R 1,056,457 25,183 6,362 - 834
=@ KA 24,515 820 34,749 988 240
WA IR 5,599 - 651 - -
AR 5,466 80 8,922 - -
NS 17,189 3,759 9,861 22,782 19,385
=y S 1,522,949 24,119 49,135 59,143 86,660
&R 5,720 56,857 - - 205
Fnoko R 86,213 389,037 36,815 196 -
B B IR 50,098 66,692 27,996 - -
R - 530 14,460 - -
i (L U 65,791 20,613 3,674 - -
=l 3,942 4,897 4,124 - 2,809
I s]y'= 2,343 10 29,200 3,009 3,771
R 577,519 80,606 19,822 - 113
ES = 73,257 29,124 36,536 10 315
=% R 151,412 158,495 83,899 - -
&R 217,577 44,367 38,348 - 202
& R 95,836 20,134 8,349 - 3,210
1 B R 210,143 24,646 2,666 - -
E i 5 449,204 87,094 80,330 190 4
RE AN IR 262,439 107,370 9,190 - -
K Gy I 137,683 2,245 10,526 257 -
(g 1N 105,551 20,519 4,726 - -
BE IR R 352,988 43,826 59,691 - -
R 24 2,969 1,258 - -
o 151,193 3,598 1,423 11,520 1,060
i 5,215 240 17,401 1,922 50
=) - 80 3,939 14,886 -
T4 - 169,930 - 1,880 -
T AU A 50 45,513 2,083 3,692 10
=a—U—FUR 158,720 21,864 107 115 -
AF¥ o 87,949 96,243 477 2,993 -
Z O th 10,461,955 658,833 828,791 85,183 7,072
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11—5. #HHE -7 F ZH&H &
P i i B (k1) 7= -
- i & | oE [esusnE[Loses] s [ e—n | zom (FA)
IRk 2 8 4 JE 36,548 1,686 62 2,902 280 11,474 20,144 685,140
30 607,143
B 5T 4 083,274
2 556,167
EE ERUTHR— A=V TEFHEHR (KKEFRUR) || B PESFE RBUE S B BUSS & LR TR #E T
11 —6. M & 4 &% M &% 1 &
" A P £ R &l i
}E ThEs Y- o= S fL 2 ¥ N N
i ol e | BY | e [ e [ en Dokn] e | B R
Rk 2 8 4 JE 3,164 30 2,019 70 1,045 200 147 27 146 525
29 3,036 40 1,811 68 1,117 236 157 30 153 541
30 3,418 100 1,866 122 1,330 215 144 81 154 736
ot AR 3,364 96 1,826 110 1,332 285 149 69 160 669
o 3,687 94 1,892 77 1,624 336 160 50 209 869
BE EEEER RO EE B AN A — G R
11—7. & & &% & ¥ B &
Rk 28 AR 29 4FEE 30 4FEE SR gt AR 2 HERE
fi il BmE|RAEE | BRE| ARG BRE | RAER | B A | AEK| B A | AEK
= | BB | s Bk | &R B | &R B | AR OBk | AR Bk | &% B | # B | B OK
# # 1,261 7 1,611 7 1,350 8 1,493 - 1,180 9
FEIRK A - - - - - - - - -
=) 1 - 1 - - - -
RIET NI - - - - _ _ _ _ _
LML TFETA0 2 - 7 - 1 - 7 - 1 -
MFETH0 - - - - - ~ 10 - - -
BFEENIND - 90 - 40 - 68 - 32 -
B B SRR I3 - - - 2 - 7 - 2 -
FRoRITAD 283 287 1 213 1 231 1 175 1
FEMHEROFH D 4 - 14 - 3 - 11 - 2 -
ZOMDIERITHNY - - - - - 6 - - -
CERRICN . SV v/ L 660 633 839 665 13 772
EREBDLY, EEHBLY 270 - 497 - 212 - 416 - 170 -
o] 41 - 82 - 39 - 71 - 25 -
Fe S AE R - - - _ _ _ _ _
GE S e RO L A B AT A — R
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